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 �����1 


رد و در
	 ��ار��� 

ء، أ��ه���� ������ ��� � ! �"#$%18 C° و �&
60در
	 ��ار�� و ا)&� ' C°.  
 ���37�� ا��
ء ��� در
	 ا�,�ارة L 10%�%� ه.ا ا�- � ا�,+#ل  C°.  


 ا�,<= ا�.ي %��>; أن %9&.8 ه.ا ا�- � �� آ3 ���6؟ %3�4 ا��12 ا�,�اري�. 
  

1    :إ����   5,5 V L≈ رد
�� ا��
ء ا��   /   2 4,5 V L≈ ء ا�
�� ا���&
?    
 

 �����2 


� آ��	 �� ا��
ء آ4$�$�� ��?��� ا��,
س آ4$�$
. 1θدر
	 ��ار�4
 ه;و  1m%,$#ي  	�AB ��?6 "; ا��C#%2m ;ه 
  .2θو در
	 ��ار�4

3��� �,E1 ا�$#ازن ا�,�اري در
	 ا�,�ارة ه;θ.  

4
. 2θ و 1θ و�F�1mر ا�$<��	 �$>������  :%�A; ا�<�ول ا�$
�; ا��$
GH ا�$<�%��	 ا��,+3 
  

  
1m  2m  1θ  2θ  3θ  

g   118 g  16,5 125  1ا	�����  C°   88,0 C°  20,6 C°  

g  118 g  20,0 100  2ا	�����  C°  75,0 C°  23,7 C°  
  

•�A��
ء:     ��� 	��$F1: ا�,�ارة ا� 14 185 . .ec J kg K− −=  

 .أآ$K ا���
د�	 ا��?��%	 -1

'$>Mل ا��$
GH ا�$<�%��	 أو
� ا�,�ارة ا���$F	 �L�2 ا��,
س و ا�?�	 ا�,�ار%	 ���?�� -2�. 
  

    :إ����  
1 1344 . .Cuc J kg K− −≈   /    1144 .J Kµ −≈  

 

����� 3 

�� ا�<��� 	�AB .&N� 
m 50آ4$�$ g=ا�,�ارة 	
��� در 1 20 Cθ = − �� ا�,�ارة ° 	��F� ودL� 5و, 45 Q kJ=.  


ت•�A��     :���>�� 	��$F1: ا�,�ارة ا� 12,10 . .gc kJ kg K− 
ء /   =−��� 	��$F1: ا�,�ارة ا� 14,18 . .ec kJ kg K− −=    

4
ر ا�<���+QR 	��
F1335:                 ا�,�ارة ا� .fL kJ kg −=    

1- �4S% ء ا�.ي
 .أ�?K آ$�	 ا��
2- ���
ء � ���
 ه; آ��	 ا�,�ارة ا�Mز�	 ��,+#ل �2 در
	 ا�,�ارة 20 Cθ = +  ؟°
  

   g    /   2 -  23,0 kJ 10  - 1    :إ����  
       

����� 4 

���1��� در
	 ا�,�ارة�� ا��
ء  L 1%,$#ي �Bر  18 Cθ = ° .�B ،	� ?� 	�H
� �2V,	 آ��4��   W=P 200 1ر�4
و �$? ��� %#6C ا��1ر 


ت•�A��
ء:     ��� 	��$F1: ا�,�ارة ا� 14,18 . .ec kJ kg K− ��	 �$� � ا��
ء /   =−
F255 12: ا�,�ارة ا� .vL kJ kg −=   

e. 11,0:                     ا�F$�	 ا�,<��	 ���
ء kg Lρ −=  

��ة ا�$? �� ا�Mز�	 �<�3 ا��
ء "; �
�	 ا�>��
ن %65إذا آ
ن ��دود ا�$? �� ه# -1 K?100(، أ� C°ا�<#ي Z<[ا� \,� .( 

"�	 3�B ر"6 ا��1ر �� "#ق �2V,	 ا�$? �� min 5%#ا3V ا�$? �� ���ة -2Cء ا��$�1; "; ا��1ر. إ
 .أ�?K �<= ا��

  

7 439,4   - 1    :إ����   min19s s≈    /   2 -  900 mL   
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����� 5 

��� _�F� 	A'#ا� 	1�<� 	Qا#A'�20,$#ي أ Lا`زوت ;H
�a ��1��� در
	 ا�,�ارة   20 Cθ = °Z<[52.10 و �,\ ا�  p Pa=  .  


�\ إ�� أن �+�b در
	 ��ار��a Z<C \,� ز
2%? � ا�> 100 Cθ = °.  


ت•�A��     :\�
a Z<C ���
H; ا`زوت �c� 	��$F1: ا�,�ارة ا� 11,04 . .pc kJ kg K− −=    / 8,314 ( . )R S I=                     


H; ا`                   ا�F$�	 ا��#��	�c114,0:                              زوت� .M g mol −=  
1- 	�H
 .أ�?K ا�,<= ا�.ي %->�� ا�>
ز "; ا�,
�	 ا��4

 آ��	 ا�,�ارة ا�Mز�	 �4.ا ا�$? ��؟ -2� 

B	 ا��ا&��	 ��>
ز &Mل ه.ا ا�$,#ل -3Aا� ��<� K?أ�. 
  

2   - 1    :إ����   25,5 V L=    /   2 -   3,82 Q kJ+=    / 2,72 U kJ+∆ =   
  

����� 6 

3F-3 ا�c�% 1��2'أ 
4$�' 	�
#� 1,0 V L=8�AB ;1"أ ;


�$+�	 ��Q9#ب ز 4 d mm=E�HLا� ��  .  ��ا&�� �ABة 

	��Fا� L>,�25,0.10  n mol−= #4ا� �����اء  	�
0در
	 ا�,�ارة  ��ا&3 ا�,# 17 Cθ = °6C#�1
 `F% e�,� ، 3V#ن �
A� E�HLة ا��AB 

)ا��,#ر , )O i
�

  . ا��#ازي ��Qf#ب 
  

ت•�A��     :\�
a Z<C ���1: ا�,�ارة ا�F$��	 ��4#اء  11,0 . .pc kJ kg K− −=                    

M. 129,0:                           ��4#اء             ا�F$�	 ا��#��	       g mol −=  
  

          
  

5 ��� أن Z<C ا�4#اء ا��,+#ر %?
وي ا�]>Z ا�<#ي -1
0 1,0.10  p Pa=. 

2- ����� �hف ا�4#اء ا��,+#ر  	1�Aا�� 	Ai
 .�ABة ا�E�HL ا'$�$G !�ة ا�1#ة ا�]
4
 �? � ا -3��� ��2F6 ا�C#� 	�
#,�) 3F-�1ار)2ا���

�\∆θ، "$��62 در
	 ��ارة ا�4#اء ا��,+#ر �a Z<C \,�  

5
0 1,0.10  p Pa=��#+"6 أC#� ;" �1$?$� E�HLة ا��AB 31$�� و ،x.  

3.1 -   ����� �

ت ا�]�ور%	∆�R�� θ	xأو�Aو ا��� .  

B	 ا��ا&��	 ��4#اء ا��,+#ر %   - 3.2Aأن �>�� ا� \�aأ	BMا�� E1,U k x∆ = ⋅  	��B دا�,�	$�
cا�k.  
3.3 -   ��2,5 إذا آ
ن∆U وxأ�?��B K	 آ3  Cθ∆ = °. 

 

F 1,3   -2     :إ����   N≈   /    3.1-  
2

0

4

( 273)

V
x

d

θ
π θ

⋅∆=
⋅ +

  

                 3.2-   
2

0
0

( 273)

4
pn M cd

U p x
V

θπ ⋅ ⋅ ⋅ + 
∆ = ⋅ − ⋅ 

 
    / 4 ( . )k S I≈  

                3.3 -    68,6 x cm=    /  2,74 U J= +∆ 
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